BIO10 
Final Exam
100 Points


DO NOT WRITE ON THIS EXAM.  RETURN IT WITH YOUR SCANTRONS.

Choose the 1 item that best answers or completes the statement.

1.  Which of the following structures or systems is not considered to be an evolutionary advantage for plants?

a) chloroplasts 

c)  seeds

b) vascular tissue

d)  flowers and fruits

2.  Mosses, liverworts, and hornworts do not reach a large size because

a) they lack chlorophyll

b) they do not have specialized vascular tissue to transport water very high

c) photosynthesis does not take place at a very fast rate.

d) All the above

3.   Removal of the endangered black footed ferret and California condor populations from the wild for breeding programs in zoos and field laboratories preserves endangered species through

a)  pristine restoration

c)   habitat rehabilitation

b)  habitat restoration

d)  captive propagation

4.  Which biome is closer to the equator?

a)  polar ice 


c) temperate forest

b)  taiga


d)  tropical rain forest

5.  The atmospheric layer that shows an increasing amount of ozone is

a)  Stratopause


c)  Tropopause

b)   Stratosphere

d)  Troposphere

6.  Which one of the following is a detrivore?

a) Insects


c)  a virus

b) a bacterium 

d)  a mouse

7.  Organisms in trophic level 3 are

a) detrivores


c)  carnivores

b) herbivores


d)  producers

8.  Which of the following are producers?

a) Termites

c)  algae

b) Water


d)  grasshoppers

9.  The ozone

a)  showed no signs of depletion until the 1970’s.

b)  forms a protective shield that blocks all radiation from the sun.

c)  is converted to oxygen gas by CFC’s.

d)  all the above
10.  The greatest variety of organisms in the oceans occurs in the 

a) shallow water



c)  deep sea water

b) open sea surface


d)  profundal zone

11.  What happens to CFC’s in our atmosphere in the presence of sunlight?

a) CFC’s are inert and therefore do not react with sunlight

b) CFC’s cause ozone to increase in the troposphere

c) CFC’s cause ozone to decrease in the troposphere

d) CFC’s cause ozone to decrease in the stratosphere.



12.  Which statement below is false regarding the rain forests of Madagascar?

a)  The rainforest is now half as large as it was originally.

b)  16 of Madagascar’s native primate species are now extinct.

c)  Habitat destruction is the primary cause of the rain forests extinctions.

d)  None of the above are false statements.=
13.  All the animals and plants that live in the same location make up a(n)

a) biome



c)  population

b) community 


d)  ecosystem

14.  Two characteristics that promote biodiversity are the size of the ecosystem and

a) latitude



c)  carrying capacity

b) population density

d)  biotic potential

15.  If removing a species causes an ecosystem to collapse, that species is known as a(n)

a) keystone species


c) Threatened species

b) Endangered species


d) All the above

16.  CFC’s are 

a) a cause of ozone depletion

c)  propellants in aerosol dispensers

b) used as coolants 


d)  all the above

17.  Which of the following is a gas that contributes to the greenhouse effect?

a) carbon dioxide 


c)  ozone

b) methane 



d)  all the above

18  Which statement below is true?


a)  Brood parasitism decreases the chances that some offspring will survive 

    because it depletes resources.


b)  A tick is an example of a parasitoid.


c)  An endoparasite may be larger or smaller than the host.


d)  all the above are true statements

19.  Which factor below is likely to cause a species to go extinct?

a) habitat loss 


c)  Introduction of exotic species

b) Species overexploitation
d)  All the above

20.  Which statement is true regarding ocean ecosystems?

        a)  There are 6 primary ecosystems found in the earth’s oceans




        b)  Open sea surface ecosystems occur in the upper 3-4 meters where light is able 

     to penetrate.

c) The intertidal region is found in the coastal shallow waters.

d) The world’s great commercial fisheries rely on the open-sea surface.
21.  Fungi exist mainly in the form of slender filaments that are barely visible to the naked eye.  These filaments are called

a)  flagella



c)  chitin

b)  mushrooms  


d)  hyphae
Choose A if true and B if false.

22.  As the number of individuals of the prey species increases the predator population decreases.

23.  Increases in the amounts of greenhouse gases could increase average global temperatures from 75 –100 degrees Celsius.

24. Global warming will increase global temperatures, but it will not affect rain patterns.

25.  Most species go extinct eventually.

26.  Some animals secrete chemical pheromones to communicate information to others.

Matching.  Do not repeat answers.

27.  Commensalism

a) one species benefits & another is not helped or hurt

28.  Mutualism

b) one species benefits & another is hurt

29.  Symbiosis


c) both organisms benefit

30.  Parasitism


d) 2 or more different organisms live in close association

Matching.  Do not repeat answers.

31.  Batesian Mimicry

a) animals camouflage for protection

32.  Self Mimicry

b) harmless species resembles a harmful species

33.  Cryptic Coloration
c) group of harmful species has a similar warning

   coloration pattern

34.  Mullerian Mimicry
d) one animal body part resembles another part

Choose the 1 item that answers or completes the statement.

35. Which statement is true regarding photochemical smog?


a)  Photochemical smog refers to air pollution in the layer of the atmosphere that 

is closest to earth.


b)  Photochemical smog is worse on cloudy days.


c)  This term refers to a decrease in ozone.


d)  All the above are true statements.

36.  Which item below least describes a dicot?


a)  They have leaves that tend to have parallel veins.


b)  They have 2 cotyledons.


c)  Their flower parts occur in fours and fives.


d)  All the above describe a dicot.

37.  Which statement below is true regarding the rate of extinction on earth?


a)  The extinction rate for birds and mammals was about 1 species per decade 

     from 1600 to 1700.


b)  From 1850-1950 the extinction rate was one species per year.


c)  Animals and birds became extinct at a rate of four species per year during the 

                years 1986–1990.


d)  all the above are true statements

38.  The Organismic Water Cycle


a)  is an Open System.


b)  gets water from the process of evaporation


c)  begins with water being taken up by the roots of plants.


d)  begins with the process of transpiration

39.  The birthrate of a population can also be described as 


a)  morbidity


b)  mortality


c)  cohort


d)  none of the above 

Choose A if true and B if false.

40.  Rain and snow in the northeastern US are demonstrating rising pH levels.

41.  The primary purpose of a plant’s cuticle, is to keep the seed protected until conditions are appropriate for germination.

42.  The growth rate of populations is greater in the United States than anywhere else on earth.

43.  Topsoil, groundwater and biodiversity are nonrenewable resources.

44.  Most of the earth’s atmosphere is nitrogen gas that cannot be used by most organisms.

45.  Fixed nitrogen refers to ammonia and is accomplished by bacteria.

46.  Water enters the plant only through the roots.

47.  Of the 3 ocean ecosystems, most photosynthesis occurs in the deep sea water region.

48.  Angiosperms evolved from gymnosperms.

49.  While many grasses rely on wind for pollination, most angiosperms rely on animals to pollinate for them.

50.  Ferns are seedless vascular plants.  

51.  Both positive and negative effects of global warming on agriculture are predicted.

52.  The endosperm makes up most of the seed in corn and is the white part of popcorn..

53.  Current computer models suggest the Antarctic ozone hole should disappear by 2065.

54.  As the air cools with higher elevations, the air’s capacity to hold moisture increases.

55.  Phosphorus gas makes up approximately 6% of earth’s atmosphere.

56.  Combustion refers to that part of the water cycle where water moves from the ocean to the atmosphere.

57.  In the United States, more than 96% of all freshwater is groundwater.

58.  Transpiration is the evaporation of water from leaf surfaces.

59.  Rapid, uncontrolled growth caused by excessive nutrients is called eutrophication.

60.  An estuary is a partly enclosed body of water where the salinity is the same as the ocean.

61.  Oligotrophic lakes tend to be deep and organic matter and nutrients are scarce.

62.  In the organismic water cycle, water falls from the atmosphere as precipitation and reenters the atmosphere through evaporation.

63.  Biomes are terrestrial communities found throughout the world.

Matching Column
64.  Primary productivity

a)  The total weight of an ecosytem’s organisms

65.  Net primary productivity 

b)  the amount of light energy converted by 

photoshynthetic organisms into organic compounds 

in a given area per unit time.

66.  Biomass



c)  amount of energy fixed by photosynthesis per 

unit of time , minus the metabolic energy costs

Multiple Choice
67.  An omnivore is 

a) a member of the animal kingdom that eats only plants.

b) A member of the plant kingdom.

c) A member of the animal kingdom that eats meat and plants.

d) None of the above

68.  Individuals of the same species that live together are considered to make up

a) An ecosystem


c)  a species

b) A population


d)  a society
69.  Carbon from the atmosphere and from water is fixed by photosynthetic organisms and returned through 

a) respiration 


c)  erosion
b) combustion 


d)  all the above
70.  Which item below is true about Nitrogen?

a) The earth’s atmosphere contains 90% nitrogen gas.

b) This gas is readily absorbed by most plants and returned to the soil.

c) The 2 nitrogen atoms in nitrogen gas are tightly bonded together covalently and only certain plants can break this bond.

d) A few kinds of bacteria can break this triple covalent bond that holds nitrogen atoms together in nitrogen gas.

Matching Column
71.  Carnivores

a)  found at the second trophic level

72.  Herbivore


b)  organisms that eat dead organisms

73.  Producer


c) a secondary consumer

74.  Detrivores


d)  Bacteria and fungi

75.  Decomposers

e) found at the lowest trophic level

BONUS Questions

It Can’t Hurt To Try:

76.  Which group of animals is most efficient at extracting oxygen?

a)  reptiles


c)  fish

b)  birds


d)  mammals

77.  Most of the absorption of food molecules takes place in the

a) stomach 


c) small intestine

b) liver 



d)  large intestine

78.  Involuntary body activities such as breathing are controlled by the

a) cerebrum 

c)  hypothalamus

b) cerebellum

d)  brainstem

79.  Mendel examined 7 characteristics.  He crossed plants with 2 different forms of a character (purple flowers and white flowers).  In every case the first generation of offspring (F1) were

a) all purple flowers

c)  ¾ purple and ¼ white

b) half purple and half white
d)  all white flowers

80.  When a person has osteoporosis, the work of _____________ falls behind the work of ________________. 

a) Osteoclasts:  osteoblasts 

c)  Osteoblasts:  osteoclasts

b) Osteoclasts:  collagen


d)  Osteoblasts:  collagen
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